Ein Mannlein steht im Walde

www.franzdorfer.com

T & N
>~y >
~y m. >
NE T
=
o
(\IEN m |
NIRARE= R
N
c
<
en
ol 2 el
N
1
il m 1]
£
=
N I3} AL
wn
£
Ht O
-
£
| | Hav] ~e
=
40 (=}
L) s i~
NN NN
| N | &
o N
e RN
o N
/- b

Sagt, wer magdas

1)
|74

o

um.

pur ein Mént - lein

Pur

vV 1 1

hat vor lau-ter

vV ¥y =

olll £ q

1
= ||

=
| YRR nWa 1]
= L.

=

S
2 ]

[ Y
N

wnn

<

o
=
QL] .w Q

g
b { |

1

=

s
N Haoi | ]
Ha M | ™

R
e Jen
~ TN N
~\

lein.

7

te

Man

ten_____

vV 1) 1

mit dem pur - pur -| ro

Y 2

—Je1 D

X

v 1y =

- ey 4 1



